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5 "M RRE(EI) 514|163 |5]|5|5(|6]4 43 21 6| 5[3|5|56]|5]5 42 85 10.8 74.2 LZMEBG
6 |FIE BEGER) 5148|565 4]|]6]|6F6 49 6(7|5|4|3|5]|]6]|7]|4 47 96 21.6 74.4

M (IR #kth (EX) 4416|6546 |8]5 48 51563666 5]5 47 95 20.4 74.6

8fil I EI(HA) 515|747 |5(4|6]5 48 417|163 |5|5]|7]|5]|4 46 94 19.2 74.8

ofiI [AE EE(REIA) 6| 56|66 |5[5]7]|6 52 48| 7|4|8|6|5|6]6 54 106 31.2 74.8

1001 (B&F HT (B3) 4 (4| 714|514 ]|5|5]6 44 4156|356 ]|5|4]|S5 43 87 12.0 75.0

117 |=% FOHF(FER) 5115|7766 |5|7]5 53 31673566 5]5 46 99 24.0 75.0

124 |5hiE BEF(FBA) 5146 |3|5|5|5]6]5 44 415|444 |5|6]|5]|4 41 85 9.6 75.4 Z4BG
13 MR ER(EX) 512|544 ]|5]|6[6] 4] 41 31513454 |6]|6]|5]| 41 82 6.0 76.0 SMEBG
1407 |R¥F =a(t) 5136|3655 ]|5]|4 42 6|1 6|4 |5|6|4|6|4]4 45 87 10.8 76.2

1547 Al E55(FEL) 6|1 3| 64| 6|4[6]|]6]5 46 716 |5|3|5]|6|6|4]4 46 92 15.6 76.4

1647 (S ER(FBA) 6|14 |5(2|5|4(4]6]5 41 2|1 653|558 4]5 43 84 7.2 76.8 —rE>
1747 | KB ZFF(BR) 6| 5|16(3|7]|6(5]|8]7 53 316731695 5]5 49 102 25.2 76.8

18 |HiE (L) 414|5]|4|3|5]|5]|5]|6 41 4154|144 5|7]4]|5 42 83 6.0 77.0 r>3>
1941 (HhE B(EI) 514|7|4|5|5|6]|]5]6 47 317|644 |5|5]|3]5 42 89 12.0 77.0

20f (fRE F[HEER) 5149|5765 7]5 53 41 6| 6|4|6|4]6|6]6 48 101 24.0 77.0

2141 |IIZE  Hifch 514|635 6]|5|6]6 46 47| 5|4|5]|6|]6|5]6 48 94 16.8 77.2

2201 |V fE—EB(FEA) 4 (3| 7|35 6]6[7]5 46 4| 5|5|4|5|6|5|7]|7 48 94 16.8 77.2 RUE
23 (BX  H=(HER) 6| 5|11(5|6| 76| 6]6 58 4 16| 8|3|5]|4]|6|5]6 47 105 27.6 77.4
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26fi |[RA IEE(1ER) 84| 7|5|5]|5|8|7]5 54 318|645 |5|6]6]6 49 103 25.2 77.8

2711 |BAZ2 ER(EI) 514|7|6|6|6|5]|8]|7 54 6|1 8| 7|3|6|5|8|6]6 55 109 31.2 77.8 —rE>
28f1 (@] FA (FiA) 4 (47|36 6]|55]5 45 3116|6543 [6]|7]5 45 90 12.0 78.0

20 (ARED 12(FEA) 51665 7|5|6]6]5 51 317|534 |6|7]|5]5 45 96 18.0 78.0

3007 |54 H(tER) 514|7|4]|5|5|6]8]6 50 31664557 4]5 45 95 16.8 78.2
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317 |ME BE (BA) 713193445 7]6 48 8|17 |6 |[3|5]|4|7]|6]7 53 101 22.8 78.2
3241 |IX  BBEF(FA) 6|14 | 88| 7|6 6] 7]6 58 516|638 77]8]5 55 113 34.8 78.2 RUE
3341 |HA T () 6|1 6| 75|66 7]6]6 55 617|847 |7 |7|6]6 58 113 34.8 78.2
344 [BAR HIC(FBIAGG) 9 (4|7 |5|6]|6]|6|7]|7 57 31719455 ([5]6]5 49 106 27.6 78.4
357 |AREP 1EFAR(EELL) 51675 7|5|8]6]6 55 5|16|5[4|5]|8|5([6]5 49 104 25.2 78.8
36fi (EJH F|A(FER) 87| 7|5|5]|5]5(12]6 60 31764194 |6]|5]|6 50 110 31.2 78.8
371 Wk BIL(EX) 716 |5(5|6|6(7]6]7 55 4116|4354 |7|5]4 42 97 18.0 79.0
3841 |TTAA EUBE(FA) 6|14 |86 | 6|6 (6] 6] 7 55 6|1 6| 74|85 7|5]6 54 109 30.0 79.0
3L (WE EFEER) 8(4|9|5|7]|6|7|6]5 57 516|951 7|6|7]8]5 58 115 36.0 79.0
4007 |RHE H—(FA) 61483 6|6 (6] 8]6 53 5116|6554 |6]6]6 49 102 22.8 79.2
4141 (DB BT (FHIAGG) 716 7(3|6|8(7]|7]38 59 4 (7| 5|47 8|8|8]4 55 114 34.8 79.2
4207 |KilE RF(FRIA) 6|1 3| 5(7|5|5(4]5]9 49 416|194 |6|5|5|6]6 51 100 20.4 79.6 RUE
4301 (AR =&H(HR) 514|19|5|9]|6|6|6]8 58 (4| 8|7 |3|5|6|5|5]5]| 48 106 26.4 79.6
444 | FIEF(ER) 717|737 |5|5]|]6]7 54 717547 ]|5]|6]|]6]5 52 106 26.4 79.6
4507 |RE HFEMWER) 8| 5(7|8|5|6[6]6]6 57 51766 3|66 4]5 48 105 25.2 79.8
4601 /NS (EHE(\ET) 5138|1154 |6]|5]|4 51 2 | 7| 53|55 7]8]5 47 98 18.0 80.0
47041 |KFF FNAI(EEA) 513|844 |6|5]|7]|12| 54 5171741495 4]5 50 104 24.0 80.0
4841 |f8K HE(HRER) 4 (4| 7|84 7|7 |6]|7 54 41 6|6|4|7]|4]6|6]6 49 103 22.8 80.2
497 | XK #&th (FBiA) 514|5|5]|5|8|7]6]6 51 4 (717|144 5|8|6]6 51 102 21.6 80.4
50 | B Fh(HER) 512|744 |6|7]6]6 47 4716|4767 |6]8 55 102 21.6 80.4
5147 |Hf &BE(HER) 5189|566 ]|6|7]6 58 (4|7 |5|5|5|6|7[6]5 50 108 27.6 80.4
52 [tBF RE({®R) 6|14 | 77|58 [9]8]6 60 3| 5|5[4]|]6|6|6]6]6 47 107 26.4 80.6 RUE
53f |=if AAKR(ZELL) 6|14 66| 6|5[6]8]6 53 5|16 |5(6|5]|7|7|6]6 53 106 25.2 80.8
54 | BHTF(FHA) 716|741 6|6|4] 6] 8 54 4 (717|165 7|8|7]6 57 111 30.0 81.0
55 |1 XE(BA) 84|10 7|6 | 7|6|7]6 61 518|646 77|67 56 117 36.0 81.0
56fi | FF(HERA) 5147867787 59 4171914 |7 7|7]|6]|5 56 115 33.6 81.4
5717 |1RE F(HER) 514|746 ]|8|9|8]7 58 51717 |5]|5|5|8] 8] 4 54 112 30.0 82.0
58fi A BF(EL) 714|751 7|8|6]|8]6 58 4 (8| 714|101 7|7 |7]6 60 118 36.0 82.0
594 | 3A(FRIA) 6|1 4| 76| 6| 6|9]10] 6 60 51717|5 6|16 | 7|7 58 118 36.0 82.0
6047 |2l BAE(FIA) 714|184 7|7 |5]6]5 53 518 7|5 8 (10| 7 | 7 65 118 36.0 82.0
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611z |KE ZAF(FHR) 516|737 ]|8]|6|7]6 55 516|591 7|6|6]|6]5 55 110 27.6 82.4

6241 |LHE IEX(FA) 5|15(9|8|4|]6|6]6]09 58 45|14 |5|6|6|7|6]6 49 107 24.0 83.0 RUE
63fL |RAE #HF(EI) 8|14(6|8|5|6(7]|8]38 60 8|1 873|677 ]8]5 59 119 36.0 83.0

64 [AEF SEEfE(\ETF) 6| 5|73 6|5(6]6]5 49 717|585 |56]|5]7 55 104 20.4 83.6

65 |HN HF(EI) 514|755 7]5(|8]9 55 45| 5| 3551167 51 106 21.6 84.4

66fi |[FFE EH(FEA) 83| 8|5|6|6]|7[7]|7 57 4 (1016|5568 7]°9 60 117 32.4 84.6

67 |FA F—EB(FA) 6| 5| 78| 5]|6([9]7]5 58 6|1 6| 6(4]|5|5(6]| 4|10 52 110 25.2 84.8

68 [AH BF(FHA) 51487 7|8|6] 9] 8 62 7178575776 59 121 36.0 85.0

69Mi |FH E (#ER) 714|855 |5(6]|8]7 55 4 (914|758 7|5]|]10] 59 114 28.8 85.2

7001 | FIRI(HER) 715|755 |6(7]8]°9 59 518|885 |6|8]6]6 60 119 33.6 85.4

VARVARESVE R S SESIN) 51117 |7 | 5|6|7]|8]|7 63 48| 6|4|5]6|8|7]6 54 117 31.2 85.8

721 (BF ALCF(FEA) 9 (5| 7|54 7]|]6(11] 38 62 4191 7|3|8|8|6|7]38 60 122 36.0 86.0 RE - DC
73 (ME EZFEZ (Fd) 7141|8312 86| 8] 7 63 41 6|1 6|3[5|5]9|6]7 51 114 26.4 87.6

7440 (B:EH BE (ER) 5|5(10| 6|7 |7|5]10(|6 61 618|757 |87 ]|9]7 64 125 36.0 89.0 [
7501 (BELL FMER(FERA) 613|869 7(10] 8] 6 63 | 4| 8| 88| 6|8[9]|6]| 6| 63 126 36.0 90.0

76 [/NEF EMR(EX) 85| 8| 7| 7]10] 5 7 66 4 (8| 73518 7[9]5°9 60 126 36.0 90.0

77 |EEN REF(ER) 8169|5897 7 66 5|10 85|97 |8|4]7 63 129 36.0 93.0

7841 |NR EE(FEIA) 6|1 6| 74| 5]|6(6]10] 7 57 4 (10| 8| 57|10 8 16| 5 73 130 36.0 94.0 KNEE
7941 |BE SF(FHER) 6|16 |12(6| 6| 7|6]10]| 5 64 | 6| 8| 66| 7| 8|15] 5| 6| 67 131 36.0 95.0

801z |BA5l #H#ED(EFEL) 71514511218 (4]9]9 73 319|555 ]12({10] 6] 5 60 133 36.0 97.0 [
814l [BAX <&CHF(HER) 9|13 (7|7 10| 8 (10| 8 70 | 4| 88|57 151 6 [ 6| 66 136 36.0 100.0

821 [isAK BE(HER) 87|11 8 71 71]19|5 69 81 9|8 6|6 71917 67 136 36.0 100.0 | J—-tE—
831 |#EH BT (HA) 8| 5196 71 8] 8 67 41919 |5|8]12]14( 7] 6 74 141 36.0 105.0 | X=h—




